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(SEM. IIl) THEORY EXAMINATION, 2015-16
ENGINEERING MATHEMATICS-11I
[Time:3 hours] [MaximumMarks: 100
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Q.1 Attempt all parts. All parts camry equal marks. Write
answer of each part in shorts. {10=2=20)
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(a) Findinverse Z-transfprmation of L

{4—2

(b) If ulx,y)=x"-y*, prove that the u satisfies

Laplace eugations.

F
1 .
2 dz where Cis circle | =3/2.
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{(h) State Cauchy’s integral theorem.

(i) Prove that: psﬂﬁuirﬁm_

(i) Define regression lines.
Section-B

Note: Attempt any five Questions from this section:
(10x5-50)

L f<a
Dh _u!nnﬂmgﬂgmﬂﬂomlin*? _u_vﬁ

Q3 Examine the nature of the function
HhU..u +..q 4
7= 22 0
f0)=0

In the region including the origin.
(2) MNAS-301

4
famikies: 10

hypothesis that male
7'005=9.49 and
ively)

Q.7 Solve
Kutta method :

. dy
Given that — =
iven

X+y

48500 (3)

5 105 58 12
and female births are equal

11.1 for 4 df and 5 df.

ial equation using Runge-

com

with y(0) = 1, find y(2).
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o) 20IVE y-Sy+3=0 DY USINg Kcgula - raisl

t: 10 11 12 13 14 methgd.
v 43.1 47.7 531 564 &0.8
¢) Using the Z-transform jolve the following
. Section-C differgnce equations :
Attempt any two questions from this section: (15x2=30) Yioz [ 4V + 30 =3
QI0 a) Using Lagrange's interpolation formula, find v(10) p - =
from the following table. _ giver) Jo) =0y =!
X: 5 6 9 1 Q.12 a)  Fromfhe datagiven below, fin the number of items n -
y: 2 13 14 16
ry =¥ » HHﬂﬁ..n.wﬂm___..__.__.“-_."
b)  The first four moments about the working mean x and y are deviations from the arithmetic mean.
28.5 of a distribution are 0.294, 7.144, 42.409 and
454.98. Calculate the moments about the mean. b) If f(z)=u+iv is analytic function and

Also evalute § and £, and comment upon the
skewness and kurtosis of the distribution.

u—v=e"(cos y-siny), find f(z) interms of z.
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¢}  Find Ei—j

3/8 rule on
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